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NEET MACRO TEST 2 (13.12.2024)

20x4=80 MARKS

Botany: Plant Kingdom, Morphology of flowering plants

Zoology: Structural organization in animals, Biomolecules

Chemistry: Classification of Elements & Periodicity in Properties, Chemical Bonding & Molecular Structure
Physics: Work, Energy & Power, System of Particles & Rotational Motion, Gravitation

1. Which among the following have chlorophyll b as
well as storage bodies called pyrenoids?
1) Dictyota
2) Volvox
3) Fucus
4) Ectocarpus

2. Mosses
1) Have haploid sporophyte
2) Exhibit protonema, which is their juvenile
phase
3) Show diplontic life cycle
4) Only reproduce by asexual means

3. Phycoerythrin is a major pigment found in
1) Diatoms
2) Green algae
3) Red algae
4) Brown algae

4. Zygotic meiosis
1) Is found in all algae
2) Occurs in all angiosperms
3) Is seen in green algae
4) Occurs in all gymnosperms

5. Find the mismatched pair w.r.t. plants
1) Bryophyta — Embryophytes
2) Pteridophyta - First tracheophytes
3) Gymnosperms - Naked seeded plants
4) Angiosperms - Archegoniate spermatophytes

6. Which of the following is not true about

pteridophytes?

1) In homosporous species, gametophyte is
monoecious

2) In heterosporous species, gametophyte is
dioecious

3) Pteridophytes can grow easily on dry and
sunny places

4) Pteridophytes produce flagellated sperms
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7. All of the following contains agar or polysulphate

esters in their cell wall, except
1) Porphyra

2) Gracilaria

3) Fucus

4) Gelidium

8. Match the following

a) Solanaceae i) Mustard

b) Fabaceae ii) Aloe

c) Trilocular ovary and axile|iii) Datura
placentation

d) Bilocular ovary due to replum |iv) Indigofera

1) a(iv), biii), c(ii), d(i)
2) a(iii), b(iv), c(ii), d(i)
3) a(iii), b(iv), c(i), d(ii)
4) a(iv), b(iii), c(i), d(ii)

9. Which of the following is a parthenocarpic fruit?

10.

11.

12.

13.

1) Mango

2) Apple

3) Banana

4) Pomegranate

Tendrils in pea differ from tendrils in cucurbit as
the former

1) Are modified axillary buds

2) Are spirally coiled structures

3) Help in protection against herbivores

4) Are modified leaves

Phyllodes of Australian Acacia are
1) Modified stem

2) Modified leaflet

3) Modified petiole

4) Modified root

Syncarpous and apocarpous gynoecium are
found respectively in
1) Lotus and rose
2) Mustard and lotus
3) Mustard and tomato
4) Rose and tomato

How many of the following flowers have
actinomorphic symmetry?

Mustard, Cassia, Canna, Bean, Tulip, Trifolium,
Petunia.

1) Five

2) Four

3) Two

4) Three
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14.

15.

16.

17.

18.

19.

Which of the following is a drupe fruit?
1) Cucumber

2) Mango

3) Guava

4) Sunflower

Which of the following features are correct w.r.t.
China rose?

a. Superior ovary

b. Monadelphous condition of stamens
c. Axile placentation

d. Actinomorphic flowers

e. Opposite phyllotaxy

1) Only (a) and (b)

2) Only (c) and (d)

3) Only (a), (c) and (d)

4) All except (e)

The brain in Periplaneta is represented by
1) Longitudinal connectives

2) Abdominal ganglion

3) Supra-oesophageal ganglion

4) Thoracic ganglion

Cube-like cells, usually found in tubular part of
nephrons with function of absorption are present
in which type of epithelium?

1) Squamous epithelium

2) Cuboidal epithelium

3) Columnar epithelium

4) Compound epithelium

Main function of adipose connective tissue is to
provide

1) Storage for fat

2) Strength

3) Elasticity

4) Flexibility

Assertion: Bones have non-pliable and hard

ground substance.

Reason: Ground substance is rich in collagen and

calcium salt.

1) Both (A) and (R) are correct, and (R) is correct
explanation of (A)

2) Both (A) and (R) are correct, but (R) is not the
correct explanation of (A)

3) (A) is true, (R) is false

4) Both (A) and (R) are false
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20.

21.

22,

23.

24,

25.

In each segment, exoskeleton of cockroach has
hardened plates called

1) Endoskeleton

2) Sclerites

3) Ommatidia

4) Arthrodial membrane

The medulla oblongata of frog passes out
through the _ and continues into spinal cord
which is enclosed in the vertebral column.

1) Cloacal aperture
2) Foramen magnum
3) Sensory papillae
4) Tympanum

Frog's eyes are protected while in water by
1) Retina

2) Photoreceptor cells

3) Nictitating membrane

4) Skin

Select the incorrect statement w.r.t. the nervous

system of frogs.

1) There are 10 pairs of cranial nerves arising
from the brain.

2) The midbrain is characterised by a pair of
olfactory lobes.

3) The brain is enclosed in cranium.

4) Hind brain consists of cerebellum and medulla
oblongata.

The activity of an enzyme cannot be affected by
1) High pH

2) High temperature

3) Presence of inhibitor

4) Activation energy

The given structure represents a nitrogenous base
NH,

0>

An incorrect statement w.r.t. the above structure

is

1) It is heterocyclic purine

2) Itis present in both DNA and RNA

3) It forms 3 hydrogen bonds with cytosine in a
DNA molecule

4) It is a component of adenylic acid
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26.

217.

28.

29.

30.

31.

Statement A: Inorganic catalysts are similar to
enzymes in being specific for a reaction.
Statement B: Inorganic catalysts are always more
efficient than enzymes as they can work at low
temperatures and have faster reaction rates.

1) Only statement A is correct

2) Only statement A is incorrect

3) Both statements A and B are correct

4) Both statements A and B are incorrect

Statement A: The living state is a non-
equilibrium steady state to be able to perform
work.

Statement B: As living organisms work
continuously, they cannot afford to reach
equilibrium.

1) Only statement A is incorrect

2) Both statements A and B are correct

3) Only statement B is incorrect

4) Both statements A and B are incorrect

A basic amino acid among the following is
1) Valine

2) Methionine

3) Lysine

4) Tryptophan

Starch gives blue colour with iodine because it
1) Is highly reactive

2) Is osmotically inactive

3) Is chemically non reactive

4) Has complex helices

Choose the incorrect match w.r.t. secondary
metabolites.

1) Lectin - Concanavalin A

2) Alkaloids - Carotenoids

3) Toxin - Ricin

4) Drugs - Curcumin

Largest size out of the following ions will be of
1) Cr?*
2) Ni%*
3) Fe?
4) Co?*
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32.

33.

34.

35.

36.

37.

38.

39.

Element of highest first IE among the following
IS

1) Fe

2) Co

3) Ni

4) Zn

Correct order of ionization enthalpy of Be. B, C
and N is

1)Be>B>C>N

2)N>C>B>Be

3)N>B>C>Be

4)N>C>Be>B

According to MOT. C2 molecule has
1) One ¢ and one = bond

2) Only two = bonds

3) Only two ¢ bonds

4) One o and two = bonds

Correct order of covalent character of the given
compounds is

1) MgBr2 > AlBrz > NaBr

2) NaBr > MgBr; > AlBr3

3) AlBr3 > MgBr; > NaBr

4) AlIBr3 > NaBr > MgBr»

Find me correct match.
a) BCl3 i) sp?
b)SiCl. i) spd
c) SF4 iii) sp3d?
d) BrFs iv) sp?

1) a-i, b-ii, c-iii, d-iv
2) a-1, b-iv, c-ii, d-iii
3) a-i, b-ii, c-iv, d-iii

4) a-iv, b-i, c-ii, d-iii

Element with atomic number 51 belongs to
1) s-block
2) p-block
3) d-block
4) f-block

Among second period elements highest
ionisation on enthalpy is of

1) Be

2)F

3)N

4) Ne

Amphoteric oxide among the following is
1) NO

2) CO

3) Na2O

4) Al,03
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40.

41.

42.

43.

44,

45.

46.

The species which has maximum number of
electrons in antibonding molecular orbital is

1) 0F

2) F2

3) Ne2

4) N

Which among the following is a metalloids?
1) Sn
2) Pb
3) Ge
4) Ga

Minimum ionic radii among the following is of
1) K*

2) AP

3) 0*

4) 8=

Official IUPAC name of element unnilpentium
is

1) Rutherfordium

2) Dubnium

3) Seaborgium

4) Nobelium

Highest negative value of electron gain enthalpy
among the 3r¢ period elements is associated with
1) Phosphorus

2) Chlorine

3) Sulphur

4) Aluminium

In which of the following, central atom is sp®
hybridised
1) BeF:
2) NH;}
®

3) CH;
4) XeFs

If R is the radius of earth and g is acceleration
due to gravity at surface of earth, then the mass

of earth can be expressed as
1)
g 2
gR
2%
3) gR?

G
9

GR3
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47.

48.

49.

50.

51.

52,

The escape velocity from earth is 11.2 km/s. Its
value for a planet having double the radius and
eight times the mass of earth is

1) 11.2 km/s

2) 11.2v/2 km/s
3) 22.4 km/s

4) 22.4\/2 km/s

The gravitational field in a region is given byT:
(1017 + 10j) N/kg. The work by an external agent
to slowly shift a particle of mass 2 kg from the
point having co—ordinate (0, 0) to a point (5m,
4m) is

1) 100J

2)801J

3)180J

4)-180J

A disc of mass m and radius R is rotating with
angular velocity o about its axis perpendicular to
the plane of disc. If a point mass of m/4 is placed
slowly on it at a distance R/2 from centre then
the new angular velocity will be

1) 8w/9

2) /5

3) 3w/5

4) T0/5

A circular disc is rolling on a horizontal plane.
Its total Kinetic energy is 75 J, then the
translational kinetic energy will be

1757

2)100J

3)501

4)401

The radius of gyration of a ring about an axis
tangent to it and perpendicular to plane of ring is
1) 2R

2) 4R

3) V2R

4)V3R

A ring of mass m is in pure rolling motion. The
velocity of centre of mass of the ring is v then
velocity of point of contact with surface will be
1) Zero

2) 2v m/s

3) vm/s

4) W2 m/s

47.

48.

49.

50.

51.

52.

WOuledmha  SNs@ED Gausd 11.2 km/s.
@rewi(h OLMIG LD WBBID Louler Blenms 61l (b
LOL i@ OamentL (m Camerfledr L&ILIL
1) 11.2 km/s
2) 11.2v/2 km/s
3) 22.4 km/s

4) 22.4+/2 km/s

QB UGHuled 266N FLIL L6VLD I= (107 + 10§)
N/Kg @60 eupmislLGEBa. 2 HCem BHenm
QarewiL e giset, Ma (0, 0) yeiteflufed Bmial
Q0 Leteldg (5M, 4m) Quogieurs IBBIISBE,
GeueillIyBH 60 GEFuIuD Liewf

1) 100J

2)801J

3)180J

4)-180J

Blews M wBEID R &b CESmemiL e el L 6L g6t
AlOTHSHMBG CFRIGHHTH DIFH6 HIFF60 Gpment
Gousld W 2 L6 FHpeid. emowihHelmha R/2
QFTemevailey M/4 Leitell Hlewm GgITS g6
B eweudbsLulLTe0, LHuw Gsmewt Geusd
A5 B(HSHGLD

1) 8w/9

2) ®/5

3) 3w/5

4) Tw/5

Qb el (B @ Sl L  eiloTersgled
® (HEpD. SIGHT CTHe Buibs SiBmed 75 J,
Wedteon] @)L LIOUWITFS Buids HLBMmeL
1) 757
2)100J
3)501
4)401]

aumeTwGHHeT  FHPBF SUIID DS  DFSH
CaTGCaTH LBDID  eumeTWGHHeT  HeMHIH MBS
CFmIESHSHTH 2 _6lTeNg|

1) 2R

2) 4R

3) V2R

4) V3R

m peop 2 LUl 6UMETWID SHITUl 2 (HEHLD
BWSHHHHL 2 _6TeNgl.  UMETWSHH  [Hlenys
WG HewFCeausld V ouGLd LNeiten] o (hei
SHMTUIL 60T OHTLJL| OBmei@mpLd LeTeriluiest Geugsld
1) Zero
2) 2vmls
3)vm/s

4) vW2 mis
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53.

54.

55.

A torque of 10 N m is acting on a ring having
moment of inertia 100 kg m?. If ring starts from
rest then the time when ring will have angular
velocity of 1000 rad/sec, is

1) 10%s

2) 10%s

3) 10°s

4) 10°s

If the displacement of the body is given by 7 — j
+ k, then the value of o for which work done by
force 21 + of + 5k is zero, will be

Da=7

2)a=3

a=4

4)a=2

If the radius of earth shrinks by 1% and its mass
remains same, then the acceleration due to
gravity will

1) Increase by 1%

2) Decrease by 1%

3) Decrease by 2%

4) Increase by 2%

56. Three uniform spheres each having a mass M and

57,

58.

radius a are kept in such a way that each sphere
touches the other two. The magnitude of
gravitational force on any of the sphere due to
other two is

2a2
V3 GM?

432
V3 GM?

2a?

3)
4)

Work done by the force F = (xj + YN in
displacing a body from (0, 0) mto (1, 2) m is
1)81J

2)1J

3)21]

4) Zero

A body is rotating with angular velocity of 6n
rad/s. If the angular acceleration of the body is
—m/12 rad/s? then the angular displacement of the
body before it comes to rest will be

1)150n

2)216m

3) 144w

4) 360 ©

53.

54.

55.

56.

57.

58.

10 N m wpsealamsurag 100 kg m?
WhHFHHMEVMUIS OBTEWIL.  QH  CUMETUIG 60
CFwebLBHMBH.  uemenwid  @Uialed  E(hHbHI
OaTLmidlermeo, euenemuid 1000 rad/sec Gsmewis
FHemgCousdHemdHd CaTenngmdb@n CphILD

1) 10%s

2) 10*s

3) 10%s

4) 10°s

QuTmeler GLiGuuiTsd § — j + k aen
QamHédsiu’ LT, 20 + af + 5k  elenauwimed
CauwtLGLD @ Geusneoulles WL LmedluIoTs
O HES 0 elel L
Ha=7
2)a=3
3a=4
4Ho=2

youier surib 1% smmd oipar Heop @Gy
wrAflwrs S mbeHTe0, FILL allenguimed gmubLD
[(hICE:%AN)
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2) 1% @empuib

3) 2% @e»pulb
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el @Gy ordliflwimen GsmenmisslT geibleuTaIBILD
M wBp b a OsTaNiLamel, @aIGleuT(
Gamenmpd BB G@reuienLd GFHTHL euemauisd
MeUSBLILIBSGIBT. LOBB  ET 6N  SHTJENILOTS
absd b Camendhder WeHId Ly elenguller
GTENTLOGILIL

GM?
1) 4a?
GM?

2a2

V3 GM?
432

V3 GM?

2a2

3)
4)

F= (xj + y)N alengwimed g Gurmenen (0, 0) m

Bamba (1, 2) M &8 GLwrpph Gguiu
Cxpemeuwimenr Geuemnen

1)81J
2)11J
3)21]
4) Zero

@ Gumemer 6m rad/s Gasmewr  Geussd 60
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59.

60.

Select the correct statement regarding moment of

inertia of a body

1) It has constant value about all axis

2) It has minimum value about an axis passing
through centre of mass of body

3) It has fixed value about an axis passing
through its centre of mass

4) All of these

The conditions dU/ dx = 0 and d?U/ dx? = 0,
where U is potential energy and x is position of
particle represents

1) Stable equilibrium

2) Unstable equilibrium

3) Neutral equilibrium

4) None of these

10

59.

60.

Qumrmeflelr  FHpLIyBeneold GBGHSH — Ffluwimen
FaBenBd CHIH0I%HBH:BMLD
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OsmemTheiTengl
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OsmemTheiTengl
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Qb DFHFL UBBIW Bleweowmer OGInLIS
OsmemTheiTengl

4) Benet SHIMRTHHID

Bubsmersst dU/ dx = 0 wipib d?U/ dx? = 0
®5e0 U eraiiLgl Blened SIBmey oiBmID X 6165TLIS)]
SHBHeM6aT Hlenevenwd GBI MBS

1) Plemeowimest Fiomlenev
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Botany: Plant Kingdom, Morphology of flowering plants
Zoology: Structural organization in animals, Biomolecules
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Chemistry: Classification of Elements & Periodicity in Properties, Chemical Bonding & Molecular Structure
Physics: Work, Energy & Power, System of Particles & Rotational Motion, Gravitation
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Solution

. Answer: (2)
. Answer: (2)
. Answer: (3)
. Answer: (3)
. Answer: (4)
. Answer: (3)
. Answer: (3)
. Answer: (2)
. Answer: (3)

10. Answer: (4)

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24,
25.
26.
217.
28.
29.
30.
31.

32.

Answer: (3)

Answer: (2)

Answer: (4)

Answer: (2)

Answer: (4)

Answer: (3)

Answer: (2)

Answer: (1)

Answer: (1)

Answer: (2)

Answer: (2)

Answer: (3)

Answer: (2)

Answer: (4)

Answer: (3)

Answer: (4)

Answer: (2)

Answer: (3)

Answer: (4)

Answer: (2)

Answer: (1)

On moving left to right along a period of
modern periodic table, atomic and ionic size
decrease due to increasing effective nuclear
charge. Hence, Cr?* is largest among the
given species.

Answer: (4)
Element Fe Co Ni  Zn
First IE (kJmol™) 762 758 737 906

33.

34.

35.

36.

37.

38.

39.
40.
41.
42.
43.
44,
45,
46.

Answer: (4)

Half-filled and completely filled orbitals
have extra stability Order of ionisation
enthalpy is N > C > Be > B.

Answer: (2)
C. forms only 27 bonds as last electrons enter
in © molecular orbital.

Answer: (3)
For same anion, smaller the size of cation,
more is the covalent character.

Answer: (2)

Molecules |Hybridization

BCls sp?

SiCls sp?

SF4 spd

BrFs sp3d?

Answer: (2)

E(Z = 51) : 1s? 2s? 2p® 3s? 3p® 3d™° 4s? 4pb
400 552 5p3

Last electron goes in p subshell hence it is p-
block element.

Answer: (4)
In a period, inert element has highest
ionisation enthalpy.

Answer: (4)
Answer: (3)
Answer: (3)
Answer: (2)
Answer: (2)
Answer: (2)
Answer: (2)
Answer: (2)

2
'%'_'bM=g_R_

g=R2 G
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47. Answer: (3)

Ve =JZGM° =11.2 km/s
Rﬂ
[2G8M, _ _
Vp = 2R, =2x112=224km/s

48. Answer: (4)
Force on mass of 2 kg F =mi =207 +20]

Work done by field w = 2oj:dx+2oj: dy
=20x5+20%4=180J
Work done by external agent = —-180 J

49. Answer: (1)

MR? ‘D_[MR2+M(R)2 ,
2 2 4 -

50. Answer: (3)

1 1
—lo?+—mv2 =75
28

3
1 mR? (vjz 1.
572 X R +§mv =75
1 2
Let —=mv° =x
2
then£+x=75
2
x=50
1mv2=50
2

51. Answer: (3)

MK2 = MR? + MR?
K =2R

52. Answer: (1)
Velocity of the point that is in contact with
surface will be zero in pure rolling

53. Answer: (2)
1=la

1
= o =— rad/s?
10ra S
w=of

= 103=%xt=>t=10‘s

54, Answer: 1)
Fd=0
2-a+5=0
a=7

55. Answer: (4)

GM
TR

égx100=2[£x100)=2%
g R

56. Answer: (3)

F =F? + F? + 2F? cos60°

_GMM_ = _GM\3
e e

57. Answer: (3)
_ 12
~Jino)

_ (12) _ 1,2
= [0y 90N =205 =24

w (xdy+y dx)

58. Answer: (2)

0? = mg +2a0

(6r)?

-l
*12

0= =216n

59. Answer: (2)
Moment of Inertia has different valves about
different axes but has minimum valve about
the axis passing through its centre of mass.

60. Answer: (3)
The given conditions are for neutral
equilibrium
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